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BSEH PRACTICE PAPER (March 2024) 
CLASS: 12th (Sr. Secondary) Code: A 

    

Roll No.   

PHYSICS 
[Hindi and English Medium] 

ACADEMIC / OPEN 
[Time allowed: 3 hours]                  [Maximum Marks: 70] 

lkekU; funsZ'k% 

 1. ç'u&i=k esa dqy 35 ç'u gSaA 

 2. lHkh ç'u vfuok;Z gSA 

 3.  ;g ç'u&i=k ik¡p •.Mksa esa foHkkftr gSA •aM-A, •aM-B, •aM-C, •aM-D vkSj •aM-EA 
 4. •aM-A esa vBkjg (1-18) oLrqfu"B ç'u gS] çR;sd ç'u 1 vad dk gSA 
 5. •aM-B esa lkr (19-25) vfr y?kq mÙkjkRed ç'u gSA çR;sd ç'u 2 vad dk gSA 
 6. •.M-C esa ik¡p (26-30) y?kq mÙkjh; ç'u gSaA çR;sd ç'u 3 vad dk gSA 
 7. •.M-D esa nks (31-32) dsl vè;;u ç'u gS] çR;sd ç'u 4 vad dk gSA 
 8. •.M-E esa rhu (33-35) nh?kZ mÙkjkRed ç'u gSa] çR;sd ç'u 5 vad dk gSA 
 9. dksbZ lexz fodYi ugha gSA ;|fi •.M-A, B, C, D vkSj E esa vkarfjd fodYi fn, gSA bu lc iz'uksa 

esa vkidks ,d fodYi pquuk gSA 

10. vad x.kd dk iz;ksx oftZr gSA 

General Instruction: 
 1. There are 35 questions in all. 
 2. All questions are Compulsory. 
 3. This question paper is divided into five sections. A, B, C, D and E. 
 4. Section-A consists of eighteen (1-18) objective type questions each of 1 mark. 
 5. Section-B consists of seven (19-25) very short answer type questions each of 2 marks. 
 6. Section-C consists of five (26-30) short answer type questions each of 3 marks. 
 7. Section-D consists of two (31-32) case study type questions each of 4 marks. 
 8. Section-E consists of three (33-35) long answer type questions each of 5 marks. 
 9. There is no overall choice however an internal choice has been provided in 

Section B, C, D and E.  You have to attempt only one of the given choices in such 
questions 

10. Use of calculator is not permitted. 
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 1. nks vkosf'kr d.kksa ds chp dh nwjh ,d&pkSFkkbZ djus ij muds chp cy gks tkrk gS% 1 

 (a) ,d&pkSFkkbZ   (b) ,d&frgkbZ  

 (c) vk/k   (d) lksyg&xquk 

  When the distance between two charged particles is made one-fourth, the force 
between them becomes:  

 (a) one-fourth   (b) one-third 

 (c) half   (d) sixteen times 

 2. ok;q o ikuh esa ,d bysDVªku rFkk çksVkWu ds eè; yxus okys oS|qr cy ds vuqikr dk eku gksrk gS% 

 1 

 (a) k (ijkoS|qrkad)    (b) 
1
k

  

 (c) 1   (d) 0 

  Ratio of magnitudes of electric force in air and water between an electron and 
proton is:   

 (a) k (dielectric constant) (b) 
1
k

 

 (c) 1   (d) 0 

 3. fuEu esa ls fdl laca/ dks /kjk ?kuRo dgk tkrk gS\ 1 

 (a)  
I
A

  (b) 
A
I

  (c) 
2I

A
  (d) 

3

2
I
A

  

  Which the following relation is called as current density?   

 (a)  
I
A

  (b) 
A
I

  (c) 
2I

A
  (d) 

3

2
I
A

   

 4. xyrh ls ,d fo|qr ifjiFk esa ,d oksYVehVj dks ,d çfrjks/ ds lkFk Js.kh Øe esa vkSj ,d 

,ehVj dks ik'oZ Øe esa tksM+ fn;k tkrk gSA ;a=k dk D;k gksxkA 1 

 (a) oksYVehVj •jkc gks tk;sxkA  (b) ,ehVj •jkc gks tk;sxkA 

 (c) nksuksa •jkc gks tk;saxsA  (d) dksbZ uqdlku ugha gSA 

SECTION A 
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  By mistake a voltmeter is connected in series and an ammeter is connected in 
parallel with a resistance in an electrical circuit. What will happen to the 
instruments?   

 (a) voltmeter is damaged  (b) Ammeter is damaged 

 (c) both are damaged (d) none is damaged 

 5. –1 pqacdh; ço`fr okys fdlh inkFkZ dh vkisf{kd pqacd'khyrk fdruh gksxh\ 1 

 (a) 1  (b) –1 (c) 0 (d) 2 

  What is the relative magnetic permeability of substance whose magnetic 
susceptibility is –1?  

 (a) 1  (b) –1 (c) 0 (d) 2 

 6. ,d lfdZV dk çfrjks/ 12 vkse vkSj çfrck/k 15 vkse gS] lfdZV dk ikoj iQSDVj D;k gksxk\  1 

 (a) 0.8  (b) 0.4 (c) 1.25 (d) 0.125 

  A circuit has a resistance of 12 ohm and an impedance 15 ohm. The power factor 
of the circuit will be  

 (a) 0.8  (b) 0.4 (c) 1.25 (d) 0.125 

 7. ,Dl&fdj.kksa dk fuokZr esa pky dk eku D;k gS\ 1 

 (a) 2c  (b) c (c) 
2
c

  (d) 
2

c
  

  What is the value of speed of X-rays in vacuum?  

 (a) 2c  (b) c (c) 
2
c

  (d) 
2

c
  

 8. tesZfu;e (Ge) dks n-çdkj dk v/Zpkyd cukus esa dkSu&lk vifeJd mi;qDr ugha gks ldrk\ 

 1 

 (a) P  (b) In (c) As (d) Sb 

  Which dopant cannot be used to make Germanium (Ge) as n-type 
semiconductor?  

 (a) P  (b) In (c) As (d) Sb 

 9. fn, x, ifjiFk esa ck;lu fdl çdkj dk gS% 1 
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 (a) vxzfnf'kd ck;lu    (b) i'pfnf'kd ck;lu 

 (c) nksuksa   (d) dqN dg ugha ldrs 

  Type of biasing in the given circuit is:  

 

 (a) Forward biasing  (b) Reverse biasing 

 (c) both    (d) can't say anything 

 10. lar`fIr çdk'k fo|qr /kjk dk ifjek.k fuHkZj djrk gS% 1 

 (a) vko`fr   (b) rhozrk 

 (c) dk;Z&iQyu   (d) fujks/h foHko 

  The magnitude of saturation photoelectric current depends upon  

 (a) frequency    (b) intensity 

 (c) work function   (d) stopping potential 

 11. ;fn h IySad fLFkjkad gS] 0.01 A° esa rjax nSè;Z iQksVksu dk laosx fdruk gksxkA 1 

 (a) 10–2 h (b) h (c) 102h (d) 1012 h 

  If h is Planck's constant, the momentum of a photon of wavelength 0.01 A° is:   

 (a) 10–2 h (b) h (c) 102h (d) 1012 h 

 12. fdlh ukfHkd dk vk;ru lekuqikrh gS% 1 

 (a) ijek.kq æO;eku   (b) ijek.kq Øekad 

 (c) U;wVªksu dh la[;k   (d) f=kT;k 

  Volume of a nucleus is directly proportional to :  

 (a) Mass number   (b) Atomic number  

 (c) No. of neutrons   (d) Radius 

 13. ukfHkdh; cyksa ds fy, fuEufyf•r esa ls dkSu&lk dFku lgh ugha gS\ 1 

 (a) ;s cy dwyke cyksa ls vf/d çcy gksrs gSA  

 (b) U;wfDyvkWuksa ds fofHkUu ;qxyksa ds fy, budk ifjek.k yxHkx leku gksrk gSA 

 (c) ;s lnSo vkd"kZd gksrs gSA 

 (d) nks U;wfDyvkWuksa ds chp ìFkdu esa òf¼ gksus ij ;s lar`Ir gks tkrs gSaA 
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  Which the following statements is NOT true for nuclear forces?  

 (a) They are stronger than Coulomb forces 

 (b) They have about the same magnitude for different pairs of nucleons 

 (c) They are always attractive 

 (d) They saturate as the separation between two nucleons increases 

 14. ;ax ds fdlh f}f>jh ç;ksx esa fÚat pkSM+kbZ β gSA ;fn leLr midj.k dks viorZukad µ ds fdlh 

æo esa Mqcks fn;k tk,] rks ubZ fÚat pkSMkbZ gks tk,xh% 1 

 (a) β (b) µβ (c) 
β
µ

  (d) 2
β

µ
  

  In Young's double-slit experiment, the fringe width is found to be β. If the entire 
apparatus is immersed in a liquid of refractive index µ. The new fringe width 
will be:   

 (a) β (b) µβ (c) 
β
µ

  (d) 2
β

µ
  

funZs'k (15-18) nks dFku fn, x, gSa% ,d vfHkdFku (A) vkSj nwljk dkj.k (R)A uhps fn, x, 

dksM (a), (b), (c) vkSj (d) esa ls lgh mÙkj pqfu,A 

(a) A vkSj R nksuksa lR; gS] vkSj R, A dh lgh O;k[;k gSaA 

(b) A vkSj R nksuksa lR; gSa vkSj R, A dh lgh O;k[;k ugha gSA 

(c)  A lR; gS] ijUrq R vlR; gSA 

(d) A vlR; gS vkSj R Hkh vlR; gSA 

Directions (15-18): Two statements are given one labelled Assertion (A) and other 
labelled Reason (R). Select the correct answer from codes (a), (b), (c) and (d) given 
below: 
(a) Both A and R are true and R is correct explanation of A. 
(b) Both A and R are true and R is NOT the correct explanation of A. 
 (c) A is true but R is false. 
(d) A is false and R is also false. 

 15. vfHkdFku (A) : dksbZ Hkh nks fo|qr cy js•k,¡ ,d nwljs dks ugha dkV ldrhA 

      dkj.k (R) : fo|qr cy js•k ds fdlh Hkh fcanq ij Li'kZ js•k fo|qr {ks=k dh fn'kk crkrh 

gSA 1 

  Assertion (A) : No two electric lines of force can intersect each other.  
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           Reason (R) : Tangent at any point of electric line of force gives the 
direction of electric field.      

 16. vfHkdFku (A) :  çdk'k gok dh rqyuk esa dkap esa rsth ls ;k=kk djrs gSaA   

  dkj.k (R) :  gok dkap dh vis{kk l?ku ekè;e gSA 1 

  Assertion (A) : Light travels faster in glass than in air.   
  Reason (R) : Air is denser than glass.       

 17. vfHkdFku (A) :  ikuh dh lrg ij rsy dh iryh ijrksa esa jax ns•s tk ldrs gSaA 

  dkj.k (R) :  liQsn çdk'k dbZ jaxksa ls feydj curk gSA 1 

           Assertion (A) : Colours can be seen in thin layers of oil on the surface of 
water. 

  Reason (R) : White light is composed of several colours.     

 18. vfHkdFku (A) :  vYiQk d.kksa ds 180° rd fc•jus ds fy, çHkko iSjkehVj 'kwU; gSA 

      dkj.k (R) :  'kwU; çHkko iSjkehVj dk vFkZ gS] vYiQk d.k dk ukfHkd ds dsaæ ls 

VdjkukA 1 

  Assertion (A) : Impact parameter for scattering of α particles by 180° is zero. 

           Reason (R) : Zero impact parameter means α particles tends to hit the 
centre the nucleus.       

 

 19. foLFkkiu /kjk fdls dgrs gSa\ ;g pkyu /kjk ls fdl çdkj fHkUu gSa\ 2 
  What is displacement current? How is it different from a conduction?  

 20. iQSjkMs dk fo|qr&pqacdh; çsj.k dk fu;e D;k gS\  2 

  Write Farday's laws of Electromagnetic induction.  

 21. ukfHkdh; lay;u D;k gksrk gS\ bl vfHkfØ;k dk ,d mnkgj.k fyf•,A 2 

  What is nuclear fusion? Write its one reaction as example.  
OR 

  gkbMªkstu ijek.kq dh fuEure voLFkk esa dqy ÅtkZ –13.6 eV gSA bl voLFkk esa bysDVªku dh 

xfrt ÅtkZ o fLFkfrt ÅtkZ fudkfy,A   

  The ground state energy of hydrogen atom is –13.6 eV. Find the kinetic energy 
and potential energy of the electron in this state.  

SECTION B 
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 22. fdlh P-N laf/ Mk;ksM ds gklh Lrj dh pkSM+kbZ ij (i) vxzfnf'kd ck;lu] vkSj (ii) i'pfnf'kd 

ck;lu dk D;k çHkko iMsxkA    2 

  What will be the effect of (i) forward  biasing and (ii) reverse basing on the width 
of depletion layer in a p-n junction diode.  

 23. pqacdh; f}èkzqo vk?kw.kZ dks ifjHkkf"kr djsa rFkk bldh S.I. bdkbZ crk,aA f}èkzqo vk?kw.kZ dh fn'kk 

crkb,A    2 

  Define magnetic dipole moment and give its S.I. unit. Also mention the direction 
of magnetic dipole moment.    

 24. ijh{k.k vkos'k dks lefoHko lrg ij fdlh ,d fcanq ls nwljs fcanq rd ys tkus esa dksbZ dk;Z D;ksa 

ugha fd;k tkrk] fl¼ dhft,A    2 

  Why no work is done in moving a test charge from one point to another point on 
equipotential surface. Give proof.   

OR 

  nks leku vkos'k ,d nwljs dks 44.1 N ls çfrdf"kZr djrs gSa] tc mudks ok;q esa 2 cm dh nwjh ij 

j•k tkrk gSA vkos'k dh ek=kk dh x.kuk djsaA  

  Two similar charges repel each other with a force of 44.1 N when placed 2 cm 
apart in air. Calculate the strength of charge.  

 25. çdk'k dk èkzqo.k D;k gS\ esyl dk fu;e crkb,A 2 

  What is polarisation of light? State Law of Malus.  
 

 

 26. viokg osx fdls dgrs gS\ fo|qr /kjk o viokg osx esa laca/ LFkkfir dhft,A 3 

  Define drift velocity? Establish the relation between current and drift velocity.  

 27. fLFkj oS/qfrdh esa xkml dk fu;e fy•sa o fl¼ djsaA 3 

  State and prove Gauss's law in Electrostatics.  

 28. ,d fn, gq, çdk'k laosnh inkFkZ ds fy, vkifrr fofdj.k dh vko`fr ds fujks/h foHko ds ifjorZu 

dh O;k[;k dhft,A    3 

  Describe the variation of stopping potential with frequency of incident radiation 
for a given photosensitive material.  

SECTION C 
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 29. (i)  gkbMªkstu ijek.kq ds LisDVªe esa ckej Js.kh dh LisDVªeh js[kkvksa dh lcls yEch vkSj lcls NksVh 

rjaxnSè;ksa dk vuqikr Kkr dhft,A   2 

   Find the ratio of the longest and the shortest wavelengths amongst  the 
spectral lines of Balmer series in the spectrum of hydrogen atom. 

  (ii) gkbMªkstu LisDVªe dh ml J`a[kyk dk uke crkb, tks fo|qr pqEcdh; LisDVªe ds ǹ'; {ks=k esa 

fLFkr gS\    1  
 Name the series of hydrogen spectrum which line in the visible region of 

electromagnetic spectrum? 
OR 

ijek.kq ds cksj ekMy dh rhu vfHkx`ghrksa dk foe'kZ dhft,A 3 

Discuss three basic postulates of Bohr's model of atom. 

 30. fdlh iw.kZrjax fn"Vdkjh dk ifjiFk vkjs• cukdj blds fuxZr cksYVrk ds rjax:i dks le>kb,A 3 

  Draw the circuit diagram of a full wave rectifier and explain its output 
waveform.     

OR 

  ÅtkZ Lrj vkjs• ds vk/kj ij pkyd] v/Zpkyd o dqpkyd esa varj le>kb,A  

  On the basis of energy level diagram differentiate between conductors, semi-
conductors and insulators.     

 
 

 31. vkse ds fu;e ds vuqlkj] fdlh pkyd esa çokfgr gksus okyh /kjk lh/s pkyd ds fljks ds chp 

foHkokarj ds lekuqikrh gksrh gS] vFkkZr I ∝ V   ⇒  
V
I

   = R, tgk¡ R pkyd dk çfrjks/ gSA fdlh 

pkyd fo|qr çfrjks/ pkyd }kjk mlds ekè;e ls fo|qr /kjk ds çokg esa mRiUu gksus okyh ck/k 

gSA ;g yackbZ] {ks=kiQy] pkyd dh çÑfr vkSj daMDVj ds rkieku ij fuHkZj djrk gSA ge dg 

ldrs gSa] R ∝ 
l
A

   or  R = 
l
A

ρ   

  tgk¡ ρ pkyd dh fo|qr çfrjks/drk gSA 

  (i) fo|qr çfrjks/ dk vk;keh lw=k gS%   1 

 (a) [ML2 T–2 A–2]  (b) [ML2 T–3 A–2] 
 (c) [M–1 L–2 T–1 A] (d) [M–1 L2 T2 A–1] 

SECTION D (Case Study Questions) 
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 (ii) ;fn fdlh pkyd ds fljksa ij 2 oksYV dk foHkokarj yxkus ij 1 µA /kjk çokfgr gksrh gS rks 

pkyd dk çfrjks/ gksxk&    1 

 (a) 2 × 106 Ω   (b) 3 × 105 Ω 
 (c) 1.5 × 105 Ω   (d) 5 × 107 Ω 

  (iii) fdlh rkj dk fof'k"V çfrjks/ fuHkZj djrk gS& 1 

 (a) yackbZ   (b) vuqçLFk dkV dk {ks=kiQy 

 (c) nzO;eku   (d) buesa ls dksbZ ugha 

  (iv) fo|qr pkyd esa fo|qr /kj o foHkokarj ds chp xzkiQ dk <yku gS& 1 

 (a) ,d lh/h js•k  (b) igys lh/h fiQj oØ 

 (c) igys oØ fiQj lh/h  (d) igys lh/h fiQj oØ 

OR 

  1.0 ehVj yacs 0.4 feeh O;kl vkSj 2.0 vkse ds çfrjks/ okys rkj dh lkexzh dh çfrjks/drk 

gS&     

 (a) 1.57 × 10–6 Ω m (b) 5.25 × 10–7 Ω m 
 (c) 7.12 × 10–5 Ω m (d) 2.55 × 10–7 Ω m 

  According to Ohm's law, the current flowing through a conductor is directly 
proportional to the potential difference across the end of the conductors i.e. I ∝ V   

⇒ 
V
I

  = R, where R is resistance of the conductor. 

  Electrical resistance of a conductor is the obstruction posed by the conductors to 
the flow of electric current through it. It depends upon length, area of cross-
section, nature of material and temperature of conductor. 

  We can write, R ∝ 
l
A

  or  R = 
l
A

ρ   

  Where ρ is the electrical resistivity of material of the conductor 
  (i) Dimensions electric resistance is 1 

 (a) [ML2 T–2 A–2]  (b) [ML2 T–3 A–2] 

 (c) [M–1 L–2 T–1 A] (d) [M–1 L2 T2 A–1] 

  (ii)  If 1 µA current flows through a conductor when potential difference of 2 volt 
is applied across its ends, then the resistance of the conductors is  1 

 (a) 2 × 106 Ω   (b) 3 × 105 Ω 
 (c) 1.5 × 105 Ω   (d) 5 × 107 Ω 
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  (iii)  Specific resistance of a wire depends upon 1 

 (a) length   (b) cross-sectional area 
 (c) mass   (d) none of these 

 

  (iv) The slope of graph between potential difference and current through a 
conductor is    1 

 (a) a straight line (b) curve 
 (c) first curve then straight line   (d) first straight line then curve 

OR 
  The resistivity of the material of a wire 1.0 m long, 0.4 mm diameter and having a 

resistance of 2.0 ohm is     

 (a) 1.57 × 10–6 Ω m (b) 5.25 × 10–7 Ω m 
 (c) 7.12 × 10–5 Ω m (d) 2.55 × 10–7 Ω m 

 32. fdlh ysal dh 'kfDr (P) ysal dh iQksdy yackbZ (f) das O;qRØe }kjk nh tkrh gS vFkkZr~ P = 
1
f

  

  tgk¡ f ehVj esa vkSj P MkbvkIVj esa gSA mÙky ySal ds fy, 'kfDr /ukRed gksrh gS vkSj vory ySal 

ds fy, 'kfDr ½.kkRed gksrh gSA tc P1, P2, P3 ............. 'kfDr;ksa okys dbZ ySal ,d nwljs ds 

laidZ esa j•s tkrs gSa] rks la;kstu dh 'kfDr lHkh ySalks dh 'kfDr;ksa dk chtxf.krh; ;ksx gksrk gS] 

vFkkZr] P =  P1 + P2 + P3 + ............. 

  (i) ,d mÙky vkSj vory ySal dks d nwjh ls vyx djds laidZ esa j•k tkrk gSA la;kstu dh 

iQksdy yackbZ    1 

 (a) 0 gks tkrh gSA  (b) ogh jgrh gS 

 (c) ?kV tkrh gS   (d) c<+ tkrh gS 

  (ii) ;fn + 1.5 D vkSj 1.0 D 'kfDr ds ySal laidZ esa j[ks tkrs gSa rks la;kstu dh çHkkoh 'kfDr 

D;k gksxh\    1 
 (a) 2.5 D   (b) 1.5 D 

 (c) 0.5 D   (d) 3.25 D 

  (iii) ;fn fdlh ySal dh {kerk + 5 D gS] rks ySal dh iQksdy yackbZ D;k gksxh! 1 

 (a) 10 cm   (b) 20 cm 
 (c) 15 cm   (d) 5 cm 
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  (iv) nks irys ySal ftldh iQksdy yackbZ + 10 cm vkSj – 5 cm gSa] mudks laidZ esa j•k x;kA 

la;kstu dh 'kfDr D;k gksxhA    1 

 (a) – 10 D   (b) – 20 D 
 (c) 10 D   (d) 15 D 

OR 

 25 cm iQksdl nwjh dk ,d mÙky ySal 20 cm iQksdl nwjh okys vory ysal ds laidZ esa 

lek{kh; :i ls j•k tkrk gSA flLVe dSlk gksxkA  

 (a) çÑfr esa vfHklj.k (b) çÑfr esa vilj.k 

 (c) vfHklj.k ;k vilj.k  (d) mijksDr esa ls dksbZ ugha 

Power (P) of a lens is given by reciprocal of focal length (f) of the lens i.e. 

P = 
1
f

 

Where f is in metre and P is in diopter. For a convex lens, power is positive 
and for a concave lens power is negative. When number of thin lenses of 
power P1, P2, P3 ......... are held in contact with one another the power of 
combination is given by algebric sum of the powers of all the lenses i.e. P = P1 
+ P2 + P3 +........   

  (i)  A convex and a concave lens separated by distance d are then put in contact. 
The focal length of combination 1  

 (a) becomes 0   (b) remains the same 
 (c) decreases   (d) increases 

 (ii) If two lenses of power + 1.5 D and + 1.0 D are placed in contact, then the 
effective power of combination will be  1  

 (a) 2.5 D   (b) 1.5 D 
 (c) 0.5 D   (d) 3.25 D 

  (iii) If the power of a lens is + 5 D, what is the focal length of the lens?  1 
 (a) 10 cm   (b) 20 cm 
 (c) 15 cm   (d) 5 cm 

  (iv) Two thin lenses of focal lengths + 10 cm and – 5 cm are kept in contact. The 
power of the combination is   1  

 (a) – 10 D   (b) – 20 D 
 (c) 10 D   (d) 15 D 

OR 
 A convex lens of focal length 25 cm is placed coaxially in contact with a 

concave lens of focal length 20 cm. The system will be  
 (a) converging in nature (b) diverging in nature 
 (c) can be converging or diverging (d) none of these 
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 33. nks yacs lh/s lekarj pkydks ds chp yxus okys cy ds fy, O;atd fudkfy, ftuesa] fo|qr /kjk 

,d gh fn'kk esa cg jgh gksA vr% ,d ,sfEi;j dks ifjHkkf"kr dhft,A  
  Derive an expression for the force between two long straight parallel conductors 

carrying current in same direction. Hence define one ampere.  5 
OR 

  ck;ksV LojsV dk fu;e fyf•,A bl fu;e ds }kjk ,d /kjkokgh dqaMyh ds v{kh; fcanq ij pqacdh; 

{ks=k fudkfy,A  
  State Biot-Savart's law. Use it to determine magnetic field at axial point of current 

carrying coil.     

 34. fdlh •xksyh; nwjchu esa çfrfcac cuus dk ukekafdr fdj.k vkjs• cukdj le>kb,A bldh vko/Zu 

{kerk ds fy, O;atd fudkfy,A    5 
  Draw a labelled ray diagram showing image formation in an astronomical 

telescope. Derive expression for its magnifying power.  
OR 

  gkbxsl ds fl¼kUr dks fyf•,A gkbxsal jpuk dk mi;ksx djrs gq, fdlh lery rjax dk lery 

i`"B ls ijkorZu le>kb,A     

  State Huygen's Principle. Using Huygen's construction, explain reflection of a 
plane wave by plane surface.    

 35. çR;korhZ /kjk tfu=k D;k gS\ fp=k vkjs• dh lgk;rk ls fl¼kar o dk;Zfof/ le>k,A 5 

  What is A.C. generator? With the help of circuit diagram explain its principle and 
working. 

OR 

  (i)  iQstj vkjs• D;k gS\ tc ,d 'kq¼ vojks/d dks fdlh ,-lh- ls tksM+k tkrk gS rks ,d] pj.k 

vkjs• cukb, vkSj ;g fn•k, fd oksYVrk ,oa /kjk ,d gh dyk esa gSaA 3 
What is phasor diagram. Draw a phasor diagram when a pure resistor is 
connected across an a.c. supply and show that voltage and current are in the 
same phase.     

  (ii) 25.0 mH dk ,d 'kq¼ çsjd 220V ds ,d L=kksr ls tqM+k gSA ;fn L=kksr dh vko`fr 50 Hz 
gks rks ifjiFk dk izsjdh; çfr?kkr ,oa rms /kjk Kkr dhft,A 2 
A pure inductor 25.0 mH is connected to a source 220V. Find the inductive 
reactance and rms current in the circuit if frequency of the source is 50 Hz.  
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